BER

Fas I B F—FH | EZFH
1 mABTEESR (Z1H1,500%4% / A) 6,000 6,000
2 P B KE8 2R ( BN B800%E%Ek /| A ) 3,200 3,200
3 BA—ZERABNRE 14,000 14,000
* B2 |, FWS0%8k * 2 = 1008k * 20K = 2,000%k * 4™ B = 8,000%k
* T8 PARTIRBEHITHE
BERE &R
* B oh B3 |, S0k * 3= 1508k * 10X = 1,500%k * 4N B = 6,000%k

4 BERT ML 3R, BIX20%k 2,400 2,400
(FX—R20%k * 30K = 600%k * 41 B = 2,400%k )

5 BEEEER (BE5RE) 1,500 1,500

6 EERRERESR (P, B, URHEMER) 6,000 6,000
* &1~ H1,500%k * 4 B =6,000%k

7 ERERR (ER, TR, €7 ) REAGE 4,000 4,000
* 84 H1,000%k * 4 A =4,0008k

8 BT 1,000

9 BEYRRERS  EXAEIREER , NEF-FHHKRFLURE 1,000 -
FEFELT 39,100 37,100

* x| A5E%%3,0008k , SFHBRBEFEARBR , FTLUEKE 3,000 3,000

&xE -

1. 2EBTERTARY, 2FAM. AR, &F. §FF (ERIR/RM AR )

2. BT AGRRAENTURBERR (RKRITHUX ) .




